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1.

Paper Cede : [ 04 ]
Paper-l1 [GEOGRAPHY]
Note : o This paper contains Fifty (50) multiple choice questions, each question carrying two (2) marks.
* 3H UYTUR H UG (50) Sgfawmeita uer§ ) WS gy % € (2) 3w ¥

Which of the following is glacial
depositional landform ?

(A) Horn

(B) Cirque

(C) Nunatak

(D) Drumlin

Davis called relief less plain as :
(A) Pediplain

(B) Peneplain

(C) Panplain

(D) Equilibrium of slope

Which of the following is not related
with arid environment ?

{A) Poternoster

(B) Piaya

(C) Pediment

(D) Bazada

Block disintegration is a common
feature in which of the following
countries ?

(A) Bhutan

(B) Saudi Arabia

(C) Sri Lanka

(D) Brazil
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5.

The Karsh topography was first-of all

studied in :

'(A) Earstwhile USSR

(B) Earstwhite Yligoslavia
(C) France

(D) Italy

Which of the following pair'does not

match ?

(A) Fohen - France

(B) Santa Ana - Argentina
(€) Purga - Russia

(D) Siracco - Italy

Which is most unstable component of
atmosphere ?

(A) Nitrozen

(B) Oxygen

(C) Water vapour

(D) Carbon di-oxide
\

Which is the main feature of the eye of
cyclone 7

(&) Clean sky

(B) Dense fog

(C) Heavy rain

(D) Cumulus cloud \
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9.

10.’

11.

12.

Horse latitudc is situated between :
(A) Westerlies and rﬁonsoon winds
(B) Trade winds and monsoon

(C) Polar and westerlies

(D) Westerlies and Trade winds

Bsides India, Monsoon climate is found

in which of the following countries ?

(A) Nigeria

(B) Syria

(C) Mayanmar
(D) Kazakhstan-

Which of the following oceanic current ‘

does not flow in North Atlantic ocean 7

(A) Gulf stream

(B) Benguela

(C) Norwagian
(D) Florida

The maximum salinity in oceans is

- found between :

(A)20°St0 40°S
(B) 50°N to 60° N
(C) 10°N to 20°N

(D) 20°N to 40°N
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(A) 20°%. ¥ 40° .
(B) 50°3.960°3.
(C) 10°3.920°3.

(D) 20°3. ¥ 40° 3.
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13.

14.

15.

16.

In which sea Gulf stream loose its
identity ?

{A) North sea

(B) Arctic sea

(C) Baltic sea

(D) Mediterranian sea

Which of the following is a coral island?
(A) Fiji Islands

(B) Hawaii Islands

(C) Bikini Islands

(D) Terra Del Feugo Islands;

The maximum concentration of red clay
is found in :

(A) Idinan Ocean

(B) Atlantic ocean

(C) Arctic ocean

(D) Pacific ocean

The most dangerous pollutant of
automobile exhaust is :

(A) Cadmium

(B) Mercury

(C) Copper

(D) Lead
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17.

18.

19.

Which of the following pollution is
respensible for most of the diseases in
India :

(A) Noise pollution

(B) Radiation pollution

(C) Land pollution

(D) Water pollution

Which of the following is the main
responsible factor for desertification ?
(A) Loss of vegetation cover

{B) Wind erosion

(C) Soit erosion

(D) Gully erosion

Which of the following statement is not

correct :

(A) Al-masudi was a famous
climatologist.

(B) Al-Idrisi made the world map.

(C) Al-Biruni wrote the book 'Marvales

of Indies'.

(D) Ibn-Batuta travelled the India widely.
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20.

21.

22.

23.

Who gave the term “compage"' ?
(A) Blache

(B) Whittlesy

©) Honsﬁom

(D) Huntington

Which of the following is not a German

geographer 7

(A) Hettner

' (B) Blache - B

(C) Ratzel

(D) Humboldt

Who ﬁrstly diviéed the lworld into
natural regions ?

(A) Herbertson

(B) Huntington

(C) Hortshorn

(D) Harshmen

Who is the auther of "Erdkunde” ?
(A) Ritter

(B) Ratzel

(C) Kant

(D) Humboldt
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24, Who has given the concept of
"heartland" or npijvot area" in

geography?

(A) PM. Roxby

(B) S.W. Woo!ridge

(C)H.J. Mackinder

D E. Huntington

25. V\./ho proposed the concept of sciemtific
determinism ?
(A) G. Taylor
_(B) E. C. Sample
(C) Huntington

(D) Ratzel

26. Which of the following is not major
population agglomeration c;f the wortld 7
(A) Westerni Europe
(B) Southern Europe
{C) Eastern Europe

(D) Eastern Asia
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27. Which continent has the highest rate of
population érowth in the world ?
(A) Africa |
(B) Asia
{C) Europe

(D) S. America v

28, Which of the following rural settlement
pattern found in Delta region ?
(A) Radial
(B) Ractangular
(C) Spider-webshape

(D) Fan shapped

29. Which of the following district has

lowest growth rate of population ?
(A) Almora

(B) Dehradun

(C) Nainital

(D) Chamoi
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30, Sefv-ices include in which of the " 39, dareit # Praifea A § few doft § afwfea

following sector ? ) fopen T &
(A) Primary . (A) wrafir
(B) Secondary " (®) i
(C) Tertary 1l ow=
(D) Quarternary ! (D) v

]
31. Match the List] with List-ll and select || 31 -1 %t g-11 & gafaa T qo

the correct answer using the codes given frafafan g2 = wam W ¥ 3fam S
below : M e W
| Listl List-1l T - w I
1. Foot loose Industries i. Embroi :
‘ ary . 1. anurfea I=m i, wgE
2. Small Scale Industries ii. Petrochemicals
2. &g IEm it YErFfeeR
3. Large Scale Industries iii. Information
Technology 1 3. gEgsEm {ii; gRTCeR eAtast
4. Collage Industries  iv.Locks 4 =R iv. qrm s
manufacturin, 1
g 52 -
Codes : ’
. 1 2 3 4
1 2 3 4 . _
@ i i v i @ i 1w
3) i i il iv (B) i i iid iv
© iv i i © iv @i @i
D) i v i i ' . . .
D) i iv i i
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32 Which of the following is not the agro-

" based industry ?
(A) Riee mill |
(B) Fruit indusﬁy
(C) Sugar industry

- el
(D).Cement industry

.33. Which of the following factor is mainly
r:esponsi'lv)l“e for hiéher tféﬁspért co‘st in
mountain region ‘?

(A) Forested Area ,.

(B) Relief

{C) Excessive rain

(D) Landslide

34, In which state the proportion of tribals
| is highest ?.

(A) Mizoram

(B) Jharkhand
(©) Uttarakhand

(D)»Cl;ﬁaﬁisgarh |
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35, The rank of languages in India according

to population is

(A) Hindi, Marathi, Kannada
(B) Hindi, Gujrati, Tamil
(C) Hindi, Bengali, Telgu
(D) Tamil, Kannada, Telgu

36. Which of the following is example of

specific region ?
(A) Monsoon region
‘(B) Lava region
(C) Taiga region

(D) Sundervan region

37. Which region has the characteristics of

_unity  of organisat‘ion' and
interdependence ?

(A) Generic region

(B) Functional region

(C) Formal region

(D) Specific region

38. Which of the following states of India” |

has Highest density of population ?
(A) Kerala »

(B) West Bengal

(C) Bihar

(D) Uttar Pradésh
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39.

41.

42.

In which of the followiné states soil

erosion is prominent ?
(A) Jharkhand

(B) Punjab

(C) Uttar Pradesh

{D) Uttrakhand

As per Koppe:;:.é classification Uttar
Pradesh experience which of the
following climat‘ic‘ ?

(A) BWhw

(B) BShw

(C) Amw

(D) Cwg

Minimum rain fall is received at :
(A) Jodhpur

(B) Jaiselmer

(C) Pokhran

(D) Bikaner

Two important sugar producing states of
India are :

(A) Maharashtra and Tamil Nadu

" (B) Uttar Pradesh and Tamil Nadu

(C) Maharashtra and Uttar Pradesh

(D) Karnataka and Andhra Pradesh
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43, Which of the following number will be
of a million sheet ?
(A)45A
®) 55 %
(C) 65
(D) 65 NW

44. Distribution of rural and urban
population is to be shown on a siﬂgle
map of India. Which of the following
will be the most appropriate technique?
(A) Dol
(B) Comparative bars
(C) Proportional spheres
(D) Dot and spheres

45. Cartosat-1 has a spatial resolution of :
(A) 1 meter
(B) 2.5 Meter
(C) 5.8 Meter
(D) 10 Meter

46. The proceés of demarcation of negative
areas is associated with :
(A) Isopleth mapping
(B) Choropleth mapping
(C) Dot mapping
(D) Both isopleth and Dot mapping
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(A) Tag
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47.

48.

49.

50.

In normal distribution of data which of |

the following is correct 7

(A) Mean = Median = Mode

(B) Mean = Median = Mode
(C) Mean # Median = Mode
(D) Mean # Median = Mode

Which of the gqllowing is the highest

peak of Uttrakhand :
(A) Abi Gamin
(B) Mukut Parvat
(C) Nanda Devi

(D) Kamet

Which of the following district has

highest density of population ?
(A) Uttrakashi

(B) Haridwar

(C) Dehradun

(D) Champawat

The most appropriate symbol for .-

representating urban centres on .

proportion map is :
(A) Dots

(B) Circles

(C) Spheres

(D) Blocks
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